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1 BREHE
(1) BEH
<HE(—#) >
AfE BAR | AE HHFRA |HE-2RELGE Hi
0 w5 15,942 110 12,186 28,238
1 B 21,851 16 12,219 34,086
2 FEsh 46,426 67 24,332 70,825
3 #He 79,463 160 41,163 120,786
4 S 35,514 67 16,388 51,969
5 F AT 42,674 88 26,645 69,407
6 EE 16,909 18 6,421 23,348
7 =i 45,885 128 23,935 69,948
8 =i 9,548 10 4,935 14,493
9 X 155,208 331 184,641 340,180
INEE 469,420 995 352,865 823,280
<HE(RE)>
AfE BAR | AE HHEA |HE-2RELGE Hi
RE 85,420 23,086 171,360 279,866
<HEE>
AfE BAR | A HEA |5E-2ARELGE g
MRS 32,754 - 6,196 38,950
<fREREH>
AfE BAR | A HEA |5E-2ARELGE g
CD 10,465 - 281 10,746
DVD 5,698 - 1,353 7,051
ETH 23 - 636 659
INET 16,186 - 2,270 18,456
<ZDih>
AfE BAR | AE HEA |5E-A2RELGE B
& & 61 - 151 212
NIk 106 - 0 106
INET 167 - 151 318
AfE BAR | A HEA |5E-2ARELGE Hi
W5 603,947 24,081 532,842 1,160,870

(BAfsr: m)




(2) FEOT—HEEK

<HKE(—HR) > <HZE(R=E)>
EPN:E Gik% 92! it EPN:E Gifr. 92! it
—HRE 234,161 995 235,156 RE 50,325 13,702 64,027
XJE 49,613 - 49,613 B 33,764 8,790 42,554
oE 4,123 - 4123 | | #RZ B 1,331 594 1,925
KiEF 2,774 - 2,774 INET 85,420 23,086 108,506
BARIE 28,654 - 28,654 -
X <HIE>
SEIRR 7,198 - 7,198 -
— EPN:E M4 B S
5L 30,705 - 30,705 .
M 32,754 - 32,754
Fil e 20,259 - 20,259
i 10,184 - 10,184 <BREREH>
Yo 10,304 - 10,304 E AR M4k L
TEa—4 3,478 - 3,478 CcD 10,465 - 10,465
a3y 5,587 - 5,587 DVD 5,698 - 5,698
E & 6,877 - 6877 | | ETA 23 - 23
RS 3,124 - 3,124 INET 16,186 - 16,186
Hhigg 18,869 - 18,869
<ZFDih>
[Ri% 3,003 - 3,003 =
EPN:E Gifr 92! g
5% 12,402 - 12,402
M %W 61 - 61
ESHRR 17,847 - 17,847
NIk 106 - 106
[EEE 258 - 258 =
= INET 167 - 167
INET 469,420 995 470,415
N
][Ry =}
PN A B it
s 603,947 24,081 628,028
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